# On the existence of minimum cubature formulas for Gaussian measure on $\mathbb{R}^{\mathbf{2}}$ of degree $t$ supported by $\left[\frac{t}{4}\right]+1$ circles 

Eiichi Bannai • Etsuko Bannai • Masatake Hirao • Masanori Sawa

Received: 16 October 2010 / Accepted: 16 May 2011 / Published online: 1 June 2011
© Springer Science+Business Media, LLC 2011


#### Abstract

In this paper we prove that there exists no minimum cubature formula of degree $4 k$ and $4 k+2$ for Gaussian measure on $\mathbb{R}^{2}$ supported by $k+1$ circles for any positive integer $k$, except for two formulas of degree 4 .


Keywords Cubature formula • Euclidean design • Gaussian design • Laguerre polynomial

## 1 Introduction

A pair $(X, w)$ of a finite subset $X \subset \mathbb{R}^{n}$ and a positive weight function $w: X \longrightarrow \mathbb{R}_{>0}$ is called a cubature formula of degree $t$ for the Gaussian measure on $\mathbb{R}^{n}$ if

$$
\frac{1}{V_{n}} \int_{\mathbb{R}^{n}} f(\boldsymbol{x}) e^{-\|\boldsymbol{x}\|^{2}} d \boldsymbol{x}=\sum_{\boldsymbol{x} \in X} w(\boldsymbol{x}) f(\boldsymbol{x})
$$

[^0]for any polynomial $f(\boldsymbol{x})$ of degree at most $t$, where $V_{n}=\int_{\mathbb{R}^{n}} e^{-\|\boldsymbol{x}\|^{2}} d \boldsymbol{x}$. Let $\operatorname{Hom}_{l}\left(\mathbb{R}^{n}\right)$ be the vector space of homogeneous polynomials of degree $l$ in $n$ variables, and $\mathcal{P}_{e}\left(\mathbb{R}^{n}\right)=\sum_{l=0}^{e} \operatorname{Hom}_{l}\left(\mathbb{R}^{n}\right), \mathcal{P}_{e}^{*}\left(\mathbb{R}^{n}\right)=\sum_{l=0, l \equiv e(2)}^{e} \operatorname{Hom}_{l}\left(\mathbb{R}^{n}\right)$. It is known that if $(X, w)$ is such a cubature formula, then the following inequalities hold (see [4, 9-11], etc.):
\[

|X| \geq $$
\begin{cases}\operatorname{dim}\left(\mathcal{P}_{e}\left(\mathbb{R}^{n}\right)\right) & \text { if } t=2 e, \\ 2 \operatorname{dim}\left(\mathcal{P}_{e}^{*}\left(\mathbb{R}^{n}\right)\right)-1 & \text { if } t=2 e+1(e=2 k), 0 \in X, \\ 2 \operatorname{dim}\left(\mathcal{P}_{e}^{*}\left(\mathbb{R}^{n}\right)\right) & \text { if } t=2 e+1(e=2 k), 0 \notin X, \\ & \text { or if } t=2 e+1(e=2 k+1)\end{cases}
$$
\]

Here, $\operatorname{dim}\left(\mathcal{P}_{e}\left(\mathbb{R}^{n}\right)\right)=\binom{n+e}{e}$ and $\operatorname{dim}\left(\mathcal{P}_{e}^{*}\left(\mathbb{R}^{n}\right)\right)=\sum_{i=0}^{[e / 2]}\binom{n+e-2 i-1}{e-2 i}$. A cubature formula $(X, w)$ is called a minimum formula if the equality holds for $X$ in the inequalities given above. We note that the present definition of minimum seems to be different from the classical way in numerical analysis and related areas, where the minimum is often discussed only for cubature formula of degree $4 k+1$ containing the origin (see, e.g., $[9,10]$ ). This is also called a Gaussian tight $t$-design of $\mathbb{R}^{n}$.

A fundamental problem is the existence of Gaussian tight $t$-designs of $\mathbb{R}^{n}$ supported by $\left[\frac{t}{4}\right]+1$ concentric spheres. " $\left[\frac{t}{4}\right]+1$ " is the minimum in the sense that if a Gaussian $t$-design exists, then the number of spheres over which the points are distributed must be at least $\left[\frac{t}{4}\right]+1$; see, e.g., $[4,8]$. The case $n=2$ deserves a special attention. The first and second authors [1] proved that if there exists a Gaussian tight 4-design $(X, w)$ on 2 concentric circles, then $(X, w)$ is isomorphic to one of the following designs:
(a) $X=X_{1} \cup\{0\}, X_{1}$ is a regular pentagon on the circle of radius $r_{1}=\sqrt{2}, w(0)=\frac{1}{2}$, and $w(\boldsymbol{x})=\frac{1}{10}$ for $\boldsymbol{x} \in X_{1}$.
(b) $X=X_{1} \cup X_{2}, X_{1}$, and $X_{2}$ are regular triangles defined by

$$
\begin{aligned}
& X_{1}=\left\{\left(r_{1} \cos (i \theta), r_{1} \sin (i \theta)\right) \mid i=0,1,2\right\}, \\
& X_{2}=\left\{\left.\left(r_{2} \cos \left(i \theta+\frac{\pi}{3}\right), r_{2} \sin \left(i \theta+\frac{\pi}{3}\right)\right) \right\rvert\, i=0,1,2\right\},
\end{aligned}
$$

where $\theta=\frac{2 \pi}{3}, r_{1}=\sqrt{3+\sqrt{5}}, r_{2}=\sqrt{3-\sqrt{5}}, w(\boldsymbol{x})=\frac{1}{6}-\frac{\sqrt{5}}{15}$ on $X_{1}$, and $w(\boldsymbol{x})=\frac{1}{6}+\frac{\sqrt{5}}{15}$ on $X_{2}$.
Cools and Schmid [7] considered the degree $4 k+1$ case in general and showed that there exists no Gaussian tight $(4 k+1)$-design supported by $k+1$ concentric circles for any integer $k$ with $k \geq 2$. In the case of $k=1$, there exists a Gaussian tight 5-design $(X, w)$ on 2 concentric circles, and it is isomorphic to the following design (see, e.g., [4, 8]):
(c) $X=X_{1} \cup\{0\}, X_{1}$ is a regular hexagon on the circle of radius $r_{1}=\sqrt{2}, w(0)=\frac{1}{2}$, and $w(\boldsymbol{x})=\frac{1}{12}$ for $\boldsymbol{x} \in X_{1}$.
Following the work of Cools and Schmid, the third and fourth authors [8] considered the degree $4 k+3$ case and proved that there exists no Gaussian tight $t$-design
supported by $k+1$ concentric circles for $t=4 k+1(k \geq 2)$ and $t=4 k+3$ ( $k \geq 1$ ).

The purpose of the present paper is to solve the even-degree case.
Theorem 1 Let $(X, w)$ be a Gaussian tight $2 e$-design of $\mathbb{R}^{2}$ with $e \geq 2$. Suppose that $X$ is supported by $\left[\frac{e}{2}\right]+1$ concentric circles. Then, $e=2$, and $(X, w)$ is isomorphic to one of the two Gaussian tight 4-designs (a), (b).

The proof of Theorem 1 is based on the property of Laguerre polynomials and uses some elementary identities in combinatorics. It is simple and so will be understood by many researchers. Also, the proof can be applied to the odd-degree case. By summarizing the results known so far, we obtain the following classification result as a corollary.

Corollary 1 Let $(X, w)$ be a Gaussian tight $t$-design of $\mathbb{R}^{2}$ with $t \geq 4$. Then, $X$ is supported by $\left[\frac{t}{4}\right]+1$ concentric circles if and only if $t=4$, 5 . In particular, if $t=4$, then $(X, w)$ is isomorphic to one of the designs (a) and (b), and ift $=5$, then $(X, w)$ is isomorphic to the design (c).

For more information on cubature formula, we refer to $[3,11]$.

## 2 Remarks on basic facts

Let $(X, w)$ be a Gaussian tight $t$-design of $\mathbb{R}^{n}$. Let $\left\{r_{1}, r_{2}, \ldots, r_{p}\right\}=\{\|\boldsymbol{x}\| \mid \boldsymbol{x} \in X\}$. We assume that $r_{1}>r_{2}>\cdots>r_{p} \geq 0$. Let $S_{i}=\left\{\boldsymbol{x} \in \mathbb{R}^{n} \mid\|\boldsymbol{x}\|=r_{i}\right\}$ be the sphere of radius $r_{i}$ centered at the origin. We say that $X$ is supported by $p$ concentric spheres. Let $X_{i}=X \cap S_{i}$ for $i=1, \ldots, p$. We note that a Gaussian tight $t$-design is a Euclidean $t$-design. We refer the readers to [2, 4, 5] about Euclidean (tight) $t$-designs. The following proposition is known (see Proposition 1.7 in [2] and Proposition 2.4.4 in [4]).

Proposition 1 Let $(X, w)$ be a Gaussian tight $t$-design of $\mathbb{R}^{n}$. Suppose that $X$ is supported by p concentric spheres. Then the following hold.
(1) $p \geq\left[\frac{t}{4}\right]+1$.
(2) If $t \equiv 2$ or $3 \bmod 4$, then $0 \notin X$.
(3) $(X, w)$ is a Euclidean tight $t$-design of $\mathbb{R}^{n}$.

If $t=2 e$, then Lemma 1.10 in [2] implies that the weight function $w$ is constant on each $X_{i}$ for $1 \leq i \leq p$. For $t=2 e+1$ (if $e$ is even and $0 \notin X$, we need an extra condition on $X$, such as $p=\left[\frac{t}{4}\right]+1$ ), Theorem 2.3.5 and Theorem 2.3.6 in [4] imply that $X$ is antipodal. Then Lemma 1.7 in [5] implies that the weight function $w$ is constant on each $X_{i}$ for $1 \leq i \leq p$. Proposition 1 suggests that it is important to study the case $p=\left[\frac{t}{4}\right]+1$. Then, as we mentioned above, the weight function $w$ is constant on each $X_{i}$.

From now on let $(X, w)$ denote a Gaussian tight $t$-design supported by $p=\left[\frac{t}{4}\right]+1$ concentric spheres. Let $k=\left[\frac{t}{4}\right]$ and $w(\boldsymbol{x})=w_{i}$ for $\boldsymbol{x} \in X_{i}(1 \leq i \leq k+1)$. Then we must have

$$
\frac{V_{n}}{\left|S^{n-1}\right|} \sum_{i=1}^{k+1}\left|X_{i}\right| w_{i} r_{i}^{2 j}=\int_{0}^{\infty} r^{2 j} r^{n-1} e^{-r^{2}} d r, \quad 0 \leq 2 j \leq t
$$

Therefore, $w_{i}$ is determined uniquely by $r_{1}, \ldots, r_{p}$.

## 3 Laguerre polynomials

Let $(X, w)$ be a Gaussian tight $2 e$-design of $\mathbb{R}^{2}$ supported by $\left[\frac{e}{2}\right]+1$ concentric circles. Let $k=\left[\frac{e}{2}\right]$. Then we have

$$
\begin{aligned}
\sum_{\boldsymbol{x} \in X} w(\boldsymbol{x})\|\boldsymbol{x}\|^{2 j} & =\frac{1}{\int_{\mathbb{R}^{2}} e^{-\|\boldsymbol{x}\|^{2}} d \boldsymbol{x}} \int_{\mathbb{R}^{2}}\|\boldsymbol{x}\|^{2 j} e^{-\|\boldsymbol{x}\|^{2}} d \boldsymbol{x} \\
& =\frac{1}{\int_{0}^{\infty} r e^{-r^{2}} d r} \int_{0}^{\infty} r^{2 j} r e^{-r^{2}} d r=\int_{0}^{\infty} y^{j} e^{-y} d y=j!
\end{aligned}
$$

for $j=0,1, \ldots, e$. Let $\lambda_{i}=\sum_{\boldsymbol{x} \in X_{i}} w(\boldsymbol{x})=\left|X_{i}\right| w_{i}$ and $R_{i}=r_{i}^{2}$ for $i=1,2, \ldots$, $k+1$. Then we obtain the following quadrature formula of degree $e$ for the weight function $e^{-y}$ on the interval $[0, \infty)$ with the Christoffel numbers $\lambda_{1}, \ldots, \lambda_{k+1}$ :

$$
\int_{0}^{\infty} y^{j} e^{-y} d y=\sum_{i=1}^{k+1} \lambda_{i} R_{i}^{j}
$$

Hence, we have

$$
\begin{equation*}
\sum_{i=1}^{k+1} \lambda_{i} R_{i}^{j}=j! \tag{1}
\end{equation*}
$$

for $j=0,1, \ldots, e$.
Let $P_{l}(x)$ be the orthogonal polynomial (Laguerre polynomial) of degree $l$ for the weight function $e^{-y}$ on $[0, \infty)$. It is well known that Laguerre polynomials are given by

$$
P_{l}(x)=\sum_{i=0}^{l}\binom{l}{l-i} \frac{(-x)^{i}}{i!}
$$

(see [6, 12], etc.). We have the following proposition.
Proposition 2 Definitions and notation are as given above. Let $F(x)=$ $\prod_{i=1}^{k+1}\left(x-R_{i}\right)$. Then the following hold.
(1) If $e=2 k+1$, then $F(x)=c_{k+1} P_{k+1}(x)$.
(2) If $e=2 k$, then $F(x)=c_{k+1} P_{k+1}(x)+c_{k} P_{k}(x)$.

Here, $c_{k+1}=(-1)^{k+1}(k+1)$ !, and $c_{k}$ is a real number.
Proof There exist real numbers $c_{0}, \ldots, c_{k+1}$ satisfying $F(x)=\sum_{l=0}^{k+1} c_{l} P_{l}(x)$. Since the coefficient of $x^{k+1}$ in $P_{k+1}(x)$ is $(-1)^{k+1} \frac{1}{(k+1)!}$, we have $c_{k+1}=(-1)^{k+1}(k+1)$ !. Moreover, for any $l \leq e-k-1$, we have

$$
c_{l} \int_{0}^{\infty} P_{l}(x)^{2} e^{-y} d y=\int_{0}^{\infty} P_{l}(x) F(x) e^{-y} d y=\sum_{i=1}^{k+1} \lambda_{i} P_{l}\left(R_{i}\right) F\left(R_{i}\right)=0 .
$$

Hence, $c_{0}=c_{1}=\cdots=c_{e-k-1}=0$. Thus, if $e=2 k+1$, then $e-k-1=k$, and we obtain

$$
F(x)=c_{k+1} P_{k+1}(x) .
$$

On the other hand, if $e=2 k$, then $e-k-1=k-1$, and we have

$$
F(x)=c_{k+1} P_{k+1}(x)+c_{k} P_{k}(x) .
$$

For more information on orthogonal polynomials, please refer to [6, 12], etc.

## 4 Proof of the main theorem

Throughout this section we use the same notations $c_{i}, r_{i}, R_{i}, t, w, w_{i}, X, X_{i}, \lambda_{i}$ as in the previous sections. We assume that $r_{1}>\cdots>r_{k+1}$ and so $R_{1}>\cdots>R_{k+1}$.

Before giving the proof of Theorem 1, we state propositions.
Proposition 3 If $R_{k+1} \neq 0$, then both $\sum_{i=1}^{k+1} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k-1}}$ and $\sum_{i=1}^{k+1} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k}}$ are nonzero. If $R_{k+1}=0$, then $\sum_{i=1}^{k} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k-1}} \neq 0$.

Proof Assume that $R_{k+1} \neq 0$. If $k$ is odd, then since $r_{i} R_{i}^{k-1}=r_{i}^{2 k-1}>r_{i+1}^{2 k-1}=$ $r_{i+1} R_{i+1}^{k-1}$, we have

$$
\sum_{i=1}^{k+1} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k-1}}=\left(\frac{1}{r_{1} R_{1}^{k-1}}-\frac{1}{r_{2} R_{2}^{k-1}}\right)+\cdots+\left(\frac{1}{r_{k} R_{k}^{k-1}}-\frac{1}{r_{k+1} R_{k+1}^{k-1}}\right)<0
$$

If $k$ is even, then

$$
\begin{aligned}
\sum_{i=1}^{k+1} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k-1}}= & \frac{1}{r_{1} R_{1}^{k-1}}+\left(-\frac{1}{r_{2} R_{2}^{k-1}}+\frac{1}{r_{3} R_{3}^{k-1}}\right) \\
& +\cdots+\left(-\frac{1}{r_{k} R_{k}^{k-1}}+\frac{1}{r_{k+1} R_{k+1}^{k-1}}\right)>0
\end{aligned}
$$

which implies $\sum_{i=1}^{k+1} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k-1}} \neq 0$. The other assertions follow by the same argument as above.

Proposition 4 (i) If $t=4 k+2$, then

$$
\sum_{1 \leq l_{1}<\cdots<l_{s} \leq k+1} R_{l_{1}} R_{l_{2}} \cdots R_{l_{s}}=\frac{(k+1)!}{(k+1-s)!}\binom{k+1}{s} .
$$

(ii) If $t=4 k$ and $0 \in X$, then

$$
\prod_{i=1}^{k+1}\left(x-R_{i}\right)=x \sum_{j=0}^{k}(-1)^{k+j}(k+1)!\binom{k}{j} \frac{x^{j}}{(j+1)!}
$$

Moreover, for $s=1,2, \ldots, k$,

$$
\sum_{1 \leq l_{1}<l_{2}<\cdots<l_{s} \leq k} R_{l_{1}} R_{l_{2}} \cdots R_{l_{s}}=(k+1)!\binom{k}{k-s} \frac{1}{(k-s+1)!} .
$$

(iii) If $t=4 k$ and $0 \notin X$, then

$$
\prod_{i=1}^{k+1}\left(x-R_{i}\right)=(k+1)!\sum_{j=0}^{k+1}\binom{k+1}{k+1-j} \frac{(-1)^{k+1+j_{x}} x^{j}}{j!}+c_{k} \sum_{j=0}^{k}\binom{k}{k-j} \frac{(-1)^{j} x^{j}}{j!}
$$

Moreover, for $s=1,2, \ldots, k+1$,

$$
\begin{aligned}
& \sum_{1 \leq l_{1}<\cdots<l_{s} \leq k+1} R_{l_{1}} R_{l_{2}} \cdots R_{l_{s}} \\
= & (k+1)!\binom{k+1}{s} \frac{1}{(k+1-s)!}+c_{k}\binom{k}{s-1} \frac{(-1)^{k+1}}{(k+1-s)!} .
\end{aligned}
$$

Proof (i) Proposition 2(1) implies that $c_{k+1} P_{k+1}(x)=\prod_{i=1}^{k+1}\left(x-R_{i}\right)$ and $c_{k+1}=$ $(-1)^{k+1}(k+1)$ !. Comparing the coefficients at $x^{k+1-s}$, we obtain the result.
(ii) Let $F(x)=\prod_{i=1}^{k+1}\left(x-R_{i}\right)$. By the assumption $0 \in X$, we have $F(x)=$ $x \prod_{i=1}^{k}\left(x-R_{i}\right)$. Proposition 2(2) implies $F(x)=c_{k+1} P_{k+1}+c_{k} P_{k}$. Since $F(0)=0$ and $P_{l}(0)=1$ for any $l$, we must have $c_{k+1}+c_{k}=0$. This implies

$$
F(x)=c_{k+1}\left(P_{k+1}(x)-P_{k}(x)\right) .
$$

By definition we have

$$
\begin{aligned}
P_{k+1}(x)-P_{k}(x) & =\sum_{j=0}^{k+1}\binom{k+1}{k+1-j} \frac{(-x)^{j}}{j!}-\sum_{j=0}^{k}\binom{k}{k-j} \frac{(-x)^{j}}{j!} \\
& =-x \sum_{j=0}^{k}(-1)^{j}\binom{k}{j} \frac{x^{j}}{(j+1)!} .
\end{aligned}
$$

Since $c_{k+1}=(-1)^{k+1}(k+1)$ !, we obtain the former assertion. Comparing the coefficients at the terms of both sides of this equality, we obtain the latter assertion.
(iii) Let $F(x)=\prod_{i=1}^{k+1}\left(x-R_{i}\right)$. Proposition 2(2) implies $F(x)=c_{k+1} P_{k+1}+$ $c_{k} P_{k}$. The result then follows by the same arguments as in the proof of (ii).

We often use the following notation in the proof of the main theorem:

$$
A_{i}=\left\{\begin{array}{l}
(k+1)!+\sum_{s=1}^{k}(-1)^{s}(k+1-s)!\sum_{\substack{1 \leq l_{1}<\ldots<l_{s} \leq k+1 \\
l_{1} \ldots, l_{s} \neq i}} R_{l_{1}} \cdots R_{l_{s}}, \\
t=4 k+2 \text { or } t=4 k, 0 \notin X, \\
(k+1)!+\sum_{s=1}^{k-1}(-1)^{s}(k+1-s)!\sum_{\substack{1 \leq l_{1}<l_{2}<\cdots<l_{s} \leq k \\
l_{1}, \ldots, l_{s} \neq i}} R_{l_{1}} R_{l_{2}} \cdots R_{l_{s}}, \\
t=4 k, 0 \in X .
\end{array}\right.
$$

We are now ready to show Theorem 1.

Proof of Theorem 1 The proof consists of three steps.
Case $t=4 k+2(e=2 k+1)$
In this case, $X$ does not contain 0 . Hence, $R_{1}>R_{2}>\cdots>R_{k}>R_{k+1}>0$.
Equations (1) for $j=1, \ldots, k+1$ imply

$$
\begin{equation*}
\lambda_{i}=\frac{(-1)^{i-1} A_{i}}{R_{i} \prod_{l=1}^{i-1}\left(R_{l}-R_{i}\right) \prod_{l=i+1}^{k+1}\left(R_{i}-R_{l}\right)} . \tag{2}
\end{equation*}
$$

On the other hand, Theorem 3.1.7(2) in [4] gives

$$
\begin{equation*}
\frac{\lambda_{i}}{\lambda_{1}}=\frac{w_{i}}{w_{1}}=\frac{r_{1}}{r_{i}} \frac{R_{1}^{k+1}}{R_{i}^{k+1}} \frac{\prod_{l=2}^{i-1}\left(R_{1}-R_{l}\right) \prod_{l i+1}^{k+1}\left(R_{1}-R_{l}\right)}{\prod_{l=2}^{i-1}\left(R_{l}-R_{i}\right) \prod_{l=i+1}^{k+1}\left(R_{i}-R_{l}\right)} \tag{3}
\end{equation*}
$$

for $i=2,3, \ldots, k+1$. (Note that there is a typo in the formula of Theorem 3.1.7(2) in [4]: Since $0 \notin X, p-1$ in the formula must be replaced by $p$.)

Since $\lambda_{1} \neq 0$, (2) implies $A_{1} \neq 0$. Hence, (2) and (3) imply

$$
\begin{equation*}
(-1)^{i-1} \frac{r_{1} R_{1}^{k}}{r_{i} R_{i}^{k}} A_{1}=A_{i} \tag{4}
\end{equation*}
$$

for any $1 \leq i \leq k+1$. Then by taking the sum of both sides of (4) over $i=1, \ldots, k+1$ we obtain

$$
\begin{aligned}
& r_{1} R_{1}^{k} A_{1} \sum_{i=1}^{k+1} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k}} \\
& \quad=(k+1)(k+1)!+\sum_{s=1}^{k}(-1)^{s}(k+1-s)!\sum_{\substack{i=1}}^{k+1} \sum_{\substack{1 \leq l_{1}<\cdots<l_{s} \leq k+1 \\
l_{1}, \ldots, l_{s} \neq i}} R_{l_{1}} \cdots R_{l_{s}}
\end{aligned}
$$

$$
\begin{equation*}
=(k+1)(k+1)!+\sum_{s=1}^{k}(-1)^{s}(k+1-s)!(k+1-s) \sum_{1 \leq l_{1}<\cdots<l_{s} \leq k+1} R_{l_{1}} \cdots R_{l_{s}} . \tag{5}
\end{equation*}
$$

Then Proposition 4(i) and (5) imply

$$
\begin{aligned}
& r_{1} R_{1}^{k} A_{1} \sum_{i=1}^{k+1} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k}} \\
& =(k+1)(k+1)! \\
& \quad+\sum_{s=1}^{k}(-1)^{s}(k+1-s)!(k+1-s)(k+1)!\binom{k+1}{s} \frac{1}{(k+1-s)!} \\
& =(k+1)(k+1)!+(k+1)(k+1)!\sum_{s=1}^{k}(-1)^{s}\binom{k}{s} \\
& = \\
& \quad(k+1)(k+1)!\sum_{s=0}^{k}(-1)^{s}\binom{k}{s}=0 .
\end{aligned}
$$

Since $A_{1} \neq 0$, we must have

$$
\sum_{i=1}^{k+1} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k}}=0
$$

This is a contradiction by Proposition 3.

Case $t=4 k(e=2 k)$ and $0 \in X$
Let $R_{k+1}=0$. Then (1) implies

$$
\begin{equation*}
\sum_{i=1}^{k} \lambda_{i} R_{i}^{j}=j! \tag{6}
\end{equation*}
$$

for $1 \leq j \leq e(=2 k)$.
If $k=1$, then $\lambda_{1} R_{1}=1$ and $\lambda_{1} R_{1}^{2}=2$ imply $R_{1}=2, \lambda_{1}=\frac{1}{2}, \lambda_{2}=\frac{1}{2}$. Hence, $w(\boldsymbol{x})=\frac{1}{10}$ and $w(0)=\frac{1}{2}$. In this case, $X \backslash\{0\}$ is a spherical tight 4-design and a regular pentagon. This gives the Gaussian tight 4-design given in Corollary 1(1).

Next we assume that $k \geq 2$. Using (6) for $j=2,3, \ldots, k+1$, we obtain

$$
\lambda_{i}=\frac{(-1)^{i-1} A_{i}}{R_{i}^{2} \prod_{l=1}^{i-1}\left(R_{l}-R_{i}\right) \prod_{l=i+1}^{k}\left(R_{i}-R_{l}\right)}
$$

for $i=1,2, \ldots, k$. On the other hand, Theorem 3.1.4(2) in [4] implies

$$
\lambda_{i}=\frac{r_{1} R_{1}^{k+1}}{r_{i} R_{i}^{k+1}} \frac{\prod_{j=2}^{i-1}\left(R_{1}-R_{j}\right) \prod_{j=i+1}^{k}\left(R_{1}-R_{j}\right)}{\prod_{j=2}^{i-1}\left(R_{j}-R_{i}\right) \prod_{j=i+1}^{k}\left(R_{i}-R_{j}\right)} \lambda_{1}
$$

for $i=2, \ldots, k$. Then a similar argument given before implies that for $i=1,2, \ldots k$,

$$
\begin{equation*}
(-1)^{i-1} \frac{r_{1} R_{1}^{k-1}}{r_{i} R_{i}^{k-1}} A_{1}=A_{i} . \tag{7}
\end{equation*}
$$

Then, taking the sum of both sides of (7) over $i=1,2, \ldots, k$, we obtain

$$
\begin{align*}
& A_{1} r_{1} R_{1}^{k-1} \sum_{i=1}^{k} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k-1}} \\
& \quad=k(k+1)!+\sum_{s=1}^{k-1}(-1)^{s}(k-s+1)!\sum_{\substack{i=1}}^{k} \sum_{\substack{1 \leq l_{1}<\cdots<l_{s} \leq k \\
l_{1}, l_{2}, \ldots, l_{s} \neq i}} R_{l_{1}} R_{l_{2}} \cdots R_{l_{s}} \\
& \quad=k(k+1)!+\sum_{s=1}^{k-1}(-1)^{s}(k-s+1)!(k-s) \sum_{1 \leq l_{1}<\cdots<l_{s} \leq k} R_{l_{1}} R_{l_{2}} \cdots R_{l_{s}} . \tag{8}
\end{align*}
$$

Then Proposition 4(ii) and (8) imply

$$
\begin{aligned}
& A_{1} r_{1} R_{1}^{k-1} \sum_{i=1}^{k} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k-1}} \\
& \quad=k(k+1)!+\sum_{s=1}^{k-1}(-1)^{s}(k-s+1)!(k-s)(k+1)!\binom{k}{k-s} \frac{1}{(k-s+1)!} \\
& \quad=k(k+1)!\sum_{s=0}^{k-1}(-1)^{s}\binom{k-1}{s} .
\end{aligned}
$$

Since $k \geq 2$, then $k(k+1)!\sum_{s=0}^{k-1}(-1)^{s}\binom{k-1}{s}=0$. Since $A_{1} \neq 0$, this implies

$$
\sum_{i=1}^{k} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k-1}}=0
$$

This is a contradiction by Proposition 3.

Case $t=4 k(e=2 k)$ and $0 \notin X$
If $k=1$, then $(X, w)$ is a Gaussian tight 4-design of $\mathbb{R}^{2}$. Hence, $X_{1}$ and $X_{2}$ are regular triangles. Theorem 3.1.5(2) in [4] implies $\frac{\lambda_{1}}{\lambda_{2}}=\left(\frac{r_{2}}{r_{1}}\right)^{3}$. This, together with
$\sum_{i=1}^{2} \lambda_{i} R_{i}=1$ and $\sum_{i=1}^{2} \lambda_{i} R_{i}^{2}=2$, implies $R_{1}=3+\sqrt{5}, R_{2}=3-\sqrt{5}, \lambda_{1}=\frac{1}{2}-$
$\frac{1}{\sqrt{5}}=3 w_{1}$, and $\lambda_{2}=\frac{1}{2}+\frac{1}{\sqrt{5}}=3 w_{2}$. This is the example given in Corollary 1(2).
Next we assume that $k \geq 2$. Using (1) for $j=1,2, \ldots, k+1$, we obtain

$$
\begin{equation*}
\lambda_{i}=\frac{(-1)^{i-1} A_{i}}{R_{i} \prod_{l=1}^{i-1}\left(R_{l}-R_{i}\right) \prod_{l=i+1}^{k+1}\left(R_{i}-R_{l}\right)} \tag{9}
\end{equation*}
$$

for $i=1,2, \ldots, k+1$. On the other hand, Theorem 3.1.5(2) in [4] implies

$$
\begin{equation*}
\lambda_{i}=\frac{r_{1} R_{1}^{k}}{r_{i} R_{i}^{k}} \frac{\prod_{j=2}^{i-1}\left(R_{1}-R_{j}\right) \prod_{j=i+1}^{k+1}\left(R_{1}-R_{j}\right)}{\prod_{j=2}^{i-1}\left(R_{j}-R_{i}\right) \prod_{j=i+1}^{k+1}\left(R_{i}-R_{j}\right)} \lambda_{1} . \tag{10}
\end{equation*}
$$

(Note that there is a typo in the formula of Theorem 3.1.5(2) in [4]: $p-1$ in the formula must be replaced by $p$, since $0 \notin X$ in this case.)

Then (9) and (10) imply

$$
(-1)^{i-1} \frac{r_{1} R_{1}^{k-1}}{r_{i} R_{i}^{k-1}} A_{1}=A_{i}
$$

for $i=1,2, \ldots, k+1$. Then, taking the sum over $i=1,2, \ldots, k+1$, we obtain

$$
\begin{align*}
& r_{1} R_{1}^{k-1} A_{1} \sum_{i=1}^{k+1} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k-1}} \\
& \quad=(k+1)(k+1)!+\sum_{s=1}^{k}(-1)^{s}(k+1-s)!(k+1-s) \sum_{1 \leq l_{1}<\cdots<l_{s} \leq k+1} R_{l_{1}} R_{l_{2}} \cdots R_{l_{s}} . \tag{11}
\end{align*}
$$

Then Proposition 4(iii) and (11) imply

$$
\begin{aligned}
& r_{1} R_{1}^{k-1} A_{1} \sum_{i=1}^{k+1} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k-1}} \\
& =(k+1)(k+1)!+\sum_{s=1}^{k}(-1)^{s}(k+1-s)!(k+1-s) \\
& \quad \times\left((k+1)!\binom{k+1}{s} \frac{1}{(k+1-s)!}+c_{k}\binom{k}{s-1} \frac{(-1)^{k+1}}{(k+1-s)!}\right) \\
& =(k+1)(k+1)!+\sum_{s=1}^{k}(-1)^{s}(k+1-s)(k+1)!\binom{k+1}{s} \\
& \quad+c_{k} \sum_{s=1}^{k}(-1)^{s}(k+1-s)\binom{k}{s-1}(-1)^{k+1}
\end{aligned}
$$

$$
\begin{aligned}
& =(k+1)(k+1)!\sum_{s=0}^{k}(-1)^{s}\binom{k}{s}+(-1)^{k} k c_{k} \sum_{s=0}^{k-1}(-1)^{s}\binom{k-1}{s} \\
& =(-1)^{k} k c_{k} \sum_{s=0}^{k-1}(-1)^{s}\binom{k-1}{s} .
\end{aligned}
$$

Since $k \geq 2$ and $A_{1} \neq 0$, we have

$$
\sum_{i=1}^{k+1} \frac{(-1)^{i-1}}{r_{i} R_{i}^{k-1}}=0
$$

This is a contradiction by Proposition 3, which completes the proof of the main theorem.

Acknowledgements Part of this paper was written during the fourth author's visit at the University of Texas at Brownsville from July to September, 2010, under the sponsorship of the Japan Society for the Promotion of Science. The fourth author would like to thank Oleg Musin for his hospitality and many valuable comments.

## References

1. Bannai, Ei., Bannai, Et.: Tight Gaussian 4-designs. J. Algebr. Comb. 22, 39-63 (2005)
2. Bannai, Ei., Bannai, Et.: On Euclidean tight 4-designs. J. Math. Soc. Jpn. 58, 775-804 (2006)
3. Bannai, Ei., Bannai, Et.: A survey on spherical designs and algebraic combinatorics on spheres. Eur. J. Comb. 30, 1392-1425 (2009)
4. Bannai, Ei., Bannai, Et., Hirao, M., Sawa, M.: Cubature formulas in numerical analysis and Euclidean tight designs. Eur. J. Comb. 31, 423-441 (2010) (Special Issue in honour of Prof. Michel Deza)
5. Bannai, Et.: On antipodal Euclidean tight $(2 e+1)$-designs. J. Algebr. Comb. 24, 391-414 (2006)
6. Chihara, T.S.: An Introduction to Orthogonal Polynomials. Mathematics and Its Applications, vol. 13. Gordon and Breach, New York (1978)
7. Cools, R., Schmid, H.J.: A new lower bound for the number of nodes in cubature formulae of degree $4 n+1$ for some circularly symmetric integrals. Int. Ser. Numer. Math. 112, 57-66 (1993)
8. Hirao, M., Sawa, M.: On minimal cubature formulae of odd degrees for circularly symmetric integrals. Adv. Geom. (to appear)
9. Möller, H.M.: Kubaturformeln mit minimaler Knotenzahl. Numer. Math. 25, 185-200 (1975/76)
10. Möller, H.M.: Lower bounds for the number of nodes in cubature formulae. In: Numerische Integration, Tagung, Math. Forschungsinst., Oberwolfach, 1978. Internat. Ser. Numer. Math., vol. 45, pp. 221-230. Birkhäuser, Basel (1979)
11. Stroud, A.H.: Approximate Calculation of Multiple Integrals. Prentice-Hall Series in Automatic Computation. Prentice-Hall, Inc., Englewood Cliffs (1971)
12. Szegő, G.: Orthogonal Polynomials. AMS Colloquium Publications, vol. 23 (1939)

[^0]:    E. Bannai

    Department of Mathematics, Shanghai Jiao Tong University, 800 Dongchuan Road, Shanghai 200240, China
    e-mail: bannai@sjtu.edu.cn
    E. Bannai

    Misakigaoka 2-8-21, Itoshima-shi, Fukuoka 819-1136, Japan
    e-mail: et-ban@rc4.so-net.ne.jp
    M. Hirao ( $\boxtimes) \cdot$ M. Sawa

    Graduate School of Information Science, Nagoya University, Furo-cho, Chikusa-ku, Nagoya 464-8601, Japan
    e-mail: hirao@math.cm.is.nagoya-u.ac.jp
    M. Sawa
    e-mail: sawa@is.nagoya-u.ac.jp

